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c) 15km= m d)3.2km= cm

e) 35000 m = km f) 900 mm = km

5. Complete each of the following conversions between the Imperial and Sl systems. Show
your work using a conversion factor. Round to 1 decimal place where appropriate.

a) 5in. = cm b) 15cm= in.
c) 18vyd. = m d) 40m = yd.

e) 3mi = km fy 5km= mi.

g) 5mi.= m h) 6 km = ft.

6. Bob ran a 10 mile race in Washington State. That same weekend, his friend Jenny ran
the Victoria half marathon, which is a 21 km long. Who ran further and by how much?
Answer in kKilometres.



